Tableaux des Puissances de Dix (])

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (J) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 10 000 1000 10 100
91 910 000 91 000 910 9100
53 530 000 53000 530 5300
3 30000 3000 30 300
79 790 000 79 000 790 7900
9 90 000 9000 90 900
X 100 10 1 000 10 000
66 6 600 660 66 000 660 000
10 1000 100 10 000 100 000
75 7 500 750 75000 750 000
84 8400 840 84 000 840 000
87 8700 870 87 000 870 000
X 10 10 000 100 1000
35 350 350 000 3 500 35000
95 950 950 000 9500 95000
3 30 30000 300 3000
39 390 390 000 3900 39 000
12 120 120 000 1200 12 000
X 10 000 1000 10 100
57 570000 57 000 570 5700
53 530 000 53000 530 5300
39 390 000 39000 390 3900
34 340 000 34 000 340 3400
27 270 000 27 000 270 2700
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